REBbERRERE EHENGRE

E1% | EZEHAE | ER EERX | E @ F 4 52 VI3 BEHN
25 | S27.101 | K F1X |LF 55 HHER 57,806.0
ZHE FXRER BET 46,831.0
B R=8 HHER 40,446.0
INER N\+3% |BHE 46,249.0
KIE RAEM BARLER 4,719.0
= —If BE R 42,240.0
RE IKE BAMRR 35,496.0
H) 273,787.0
FT2R |=F0 H— HHER 31,299.0
g FHRE wER 17,792.0
"R BE BHHER 23,130.0
#H E&E BET 35,286.0
=R BZ BEHRRT 24,169.0
KR ER— BAHKER 8,249.0
B OEED BE 11,489.0
A XB BHHER 38,307.0
Wx 4F BET 30,229.0
a2l R BA#ER 7,827.0
it 227,771.0
26 | S284.19 | B | #; FT1X |FEH EABE HET 22,742.0
#HE FRXRER BER 31,417.0
=iE —if T 46,827.0 O
2iE RE=E8 BHHER 56,780.0 O
g =58 BHHER 46,913.0 O
RE IKE BA#=R 44,428.0 O
INER N\+%E |BEER 39,335.0
A A=HR ®iTE 4,296.0
KIE KRB BAXER 2,624.0
WA = RER ®iTE 141.0
&t 295,503.0
F2X |fHx EF BER 48,031.0 O
=% HF— HHER 41,4420 O
A&t X5 HHER 45,236.0 O
#HF E&E BER 38,591.0
A SR HHER 13,066.0
s FHRE BA#E® 25,617.0
AR BMER ®TE 8,716.0
5H ARER BAHKESR 5,837.0
Il T HHR% 721.0
it 227,257.0




REBbERRERE EHENGRE

EHREEXTHEERES
EI% | EZEHAE |BR| B | EZEX | @ & 4 52 M]3 BEH LE
27 | S30227 | B | ##EZE | #F1X |[/NZER /\+% |BEHE 46,921.0 O
RE KR BAMRR 64,805.0 O
ZHE FXRER BARE® 45,785.0
B R=8 BARE® 50,746.0 O
g =58 HHER 42,256.0
=\ I BARE® 50,794.0 O
it 301,307.0
F2X |fHE EF BARER 39,617.0 O
A XB BARE® 43,514.0 O
XiR AH BAHKER 8,005.0
=M B BHHER 36,873.0
"R BE BARER 37,865.0 O
f2t XA HAEEMER| 27,4670
EO FXRHER ABA#ER 26,617.0
T /& BHER 7,838.0
it 227,796.0
28 | S33522 | K | #=FEZE | F1X |KIF ZEE BAHKER 2,631.0
= I BEHERFE® 55,388.0 O
KAWL EF2—8 |BAHHER 36,827.0
2iE R=E8 BEHERFE® 53,021.0 O
RE IKE BA#ER 49,497.0 O
#HE FRXRER BEHERIE® 37,642.0
B K/ ‘R 19,331.0
EE XA ®iTE 42,648.0 O
=2 = ‘R 10,694.0
&t 307,679.0
F2X MR £BF BEHERIE® 48,163.0 O
A XB BEHERIE® 42,061.0
EO FRHER BA#HER 45,703.0 O
=M B BEHERIE® 57,146.0 O
Wx 4F BEHERIE® 43,821.0
NN: BAHKESR 5,683.0
& 2425770




REBbERRERE EHENGRE

EREEXTEZE
EEHH (BR| B | EERX | E @ E 4 5T VI3 BEHN
S35.1120 | B | #&%F | £1X |Eff R=H BEHRE® 49,225.0
EB XA BEHRE® 50,686.0
KR A BARLER 3,839.0
RE IKE BAR#=R 53,629.0
=\ I BEHRE® 52,880.0
KAWL E—B |BHA#HER 41,810.0
ZHE EXRER BEHRE® 50,578.0
Lo #FiE REHHER 4,084.0
H) 306,731.0
F2X |fHx £F BEHERFE® 45,320.0
s FHRE RE#tE&® 6,495.0
=M B BEHERFE® 49,319.0
EO FRHR BAR#=R 40,110.0
HiR BB BEHERFE® 53,909.0 O
"R BE BEHERFE® 48,391.0 O
BB B BAHKER 2,705.0
it 246,249.0
S38.11.21 | K | #&8% | £1X [EY & BEHERFE® 68,999.0
FHE EXRER BEHERFE® 70,895.0
B XA BEHERFE® 48,910.0
KAWL EF2—8 |BAHHER 63,383.0
KR AH BARHKESR 11,391.0
RE IEE BA#ER 51,239.0
H 314,817.0
F2KX (B0 FRXRER BA#ER 47,670.0
=M B BEHERIE® 30,444.0
HiR &HEB BEHERIE® 46,547.0
MR BR— ®iTE 51,306.0
mE Xt BAHKER 4,764.0
Wx 4F BEHERIE® 43,522.0
M JRER ®iTE 6,079.0
ki A BTE 11,064.0
& 241,396.0




REBbERRERE EHENGRE

EREEXTEZE
EERX | E @ F 4 52 M]3 BEHN
F1X |4 B— BEE 22,751.0
R =it BEHRE® 67,738.0
=t K& BEHRE® 37,905.0
ZHE EXRER BEHRE® 71,855.0
g =5 BE 35,588.0
KAWL E—B |BHA#HER 53,778.0 O
RE IKE AR 59,865.0 O
KR A BALER 11,400.0
it 360,880.0
F2X |BAE Rt BAXER 6,855.0
EO FXRHER BAR#=R 44,3470
mx 48 BEHERFE® 38,277.0
£l — BE 26,735.0
MR BR— BEHERFE® 60,004.0 O
HiR BB BEHERFE® 67,773.0 O
M JRER BEE 7,221.0
it 251,212.0
LT3t F1IRX |RE E& AEEBER 401.0
=t RE BEHERFE® 41,644.0
REB $E6%7M |BRLER 9,412.0
Al =% ‘R 8,435.0
#HE FRXRER BEHERIE® 57,456.0
KAWL EF2—8 |BAHHER 42,414.0
A HIE BEHERIE® 66,156.0 O
T & N: k) 47,308.0 O
Fi HhE ®iTE 58,641.0 O
RE IEE BA#ER 46,731.0
&t 378,598.0
F2X |FRiE ERED BA#ER 23,492.0
HiR &HEB BEHERIE® 60,487.0
MR BR— BEHERIE® 45,292.0
Xt <5 ®TE 15,440.0
FE IERER UEBER 267.0
FHE BX HEHRER 25,246.0
mx 48 ®BTE 12,549.0
ZN K— BAHKESR 47,590.0
£l — BTE 21,767.0
it 252,130.0




REBbERRERE EHENGRE

EREEXTEZE
EEHH (BR| B | EERX | E @ E 4 5T VI3 BEHN
S471210 | B | &% | F1X [aF & N 48,231.0
PR RE BEHRE® 55,991.0
£l H=ER TR 29,370.0
g &— BEHRE® 83,060.0
#mK R— TR 2,404.0
TE RE BAR#=R 27,149.0
KAWL E—B |HA#HER 60,351.0
ZHE EXRER BEHRE® 47,670.0
RE FAEM |BAHKER 18,742.0
A HIE BEHERFE® 61,701.0
E 434,669.0
F2R M FB— BEHERFE® 67,860.0
BB IEXRER BA#ER 18,996.0
FHE BX HHERER 41,882.0
EN B— BAHKER 53,423.0
xR = R#tw 6,897.0
HiR BB BEHERFE® 75,426.0
E 264,484.0
S51.125 | B | #:FEZE | F1X |5 = BEHERFE® 59,765.0
KIE R BAHKER 33,660.0
HE®H E& ®iTE 45,010.0
A =IE BEHERIE® 62,504.0
R FX ®iTE 48,450.0
KAWL EF2—8 |BAHHER 44,3440
T & N: k) 65,509.0
B =X BA#=R 37,190.0
g E— BEHERIE® 59,043.0
&)1l B=ER ®iTE 29,828.0
H 485,303.0
g2 N K— BAXER 52,828.0
B B— BA#ER 26,433.0
MR BR— BEHRIE® 71,698.0 O
HiR &EB BEHRIE® 97,670.0 O
& 248,629.0




REBbERRERE EHENGRE

EEHA (EB| BE | BERX | K@ E 4 =K "BEH

S54.10.7 B | #:&% | $1X (ALEH E& BHEER 73,971.0

BH FEIE BAR#=R 72,556.0
P FX FEHIST 39,595.0
R &Hif BEHRE® 60,080.0
g E— BEHRE® 67,095.0 O
oF & N 63,900.0
miE Ea BARLER 12,569.0
ES = BEHRE® 77,804.0
B 467,570.0
g2 I K— BAHKER 61,980.0
e B— BA#ER 11,579.0

HR ZHER BHERIR 79,299.0

A+t =5 HEHIST 60,890.0

MR BR— BEHERFE® 64,513.0
E 278,261.0
S$55.6.22 | B | #=FEZE | F1X | E— BEHERFE® 84,684.0 O
2S HZ BEHERFE® 69,380.0 O
R FX BEE 26,810.0
uF & Nk 59,733.0
e EA BAHKER 12,531.0
XE HEHF BEHERIE® 63,958.0
BH BEIE BA#ER 77,580.0 O
HE® EA& BEHERIE® 79,873.0 O
&t 474,549.0
F2X |HE B— BAR#ER 10,071.0
EN ®B— BARHKESR 51,274.0
A¥ =F8B FEHIST 67,631.0 O
MR BR— BEHERIE® 74,053.0 O
HiR BB BEHERIE® 69,767.0 O
ZFHA /X ®iTE 25,165.0
B TYUF BAFET 1,239.0
it 299,200.0




REBbERRERE EHENGRE

EHREEXTHEERES
EI% | EZEHAE |BR| B | EZEX | @ & 4 52 M]3 BEH LE
37 | s58.12.18 | B | #FEZE | F1X |IRE ZA BARLER 13,768.0
HEE E4 HHRER 81,503.0 O
XS EFHF BEHRE® 98,275.0 O
ES = BEHRE® 96,478.0 O
BH FEIE BAR#=R 92,083.0 O
g &— BEHRE® 76,609.0
H) 458,716.0
F2R M B— BEHRE® 65,036.0 O
A¥ F8B BEHRE® 64,661.0
HiR BB BEHERFE® 86,217.0 O
EZ) K— BAHKER 70,473.0 O
it 286,387.0
38 S61.7.6 B | #:2F% | #1X |IRE ZA BAXER 14,972.0
2S HZ BEHERFE® 100,385.0 O
HE%H E& BEHERFE® 96,725.0 O
BH EEIE BA#ER 84,073.0
XE HEHF BEHERFE® 100,653.0 O
g E— BEHERFE® 101,717.0 O
it 498,525.0
F2X | K& F8 BEHERFE® 83,052.0 O
EN B— BAXER 50,271.0
MR BR— BEHERIE® 74,846.0 O
I 8A BA#ER 24,417.0
HiR BB BEHERIE® 75,888.0 O
A EE ®iTE 871.0
&t 309,345.0
39 H2.2.18 B | #:&% | F1X |28 Fif BAXER 14,648.0
XE HEHF BEHERIE® 84,302.0 O
BH BEIE BA#ER 161,579.0 O
g E— BEHERIE® 69,803.0
E2S = BEHERIE® 88,328.0 O
A& E& BEHRIE® 106,946.0 O
it 525,606.0
F2R TR B— HEHRER 65,555.0
A&t <5 BEHRIE® 77,687.536| O
HiR &HEB BEHRIE® 67,972.0 O
I 8h BA#E® 71,855.0 O
A# BRIUER BAHKESR 19,768.436
A EE HTE 1,465.0
it 304,302.972




REBbERRERE EHENGRE

EREEXTEZE
E1% | EZEHH EERX | E @ F 4 52 VI3 BEHN
40 H5.7.18 FTIX | KRAKR FX TR 5,959.0
ES = BEHRE® 87,182.0
XS EFHF BEHRE® 102,921.0
HEE E4 HHRER 105,905.0
g 5 BA#HR 58,412.0
=iE THTF BARLER 25,329.0
S & BAMRR 66,437.0
H) 452,145.0
F2R | K 75 AR 83,832.0
MR BR— BEHERFE® 76,436.0
I 8A BA#ER 36,997.0
HiR BB BEHERFE® 67,962.0
Ik & BAHKER 17,043.0
it 282,270.0
41 | H8.10.20 LT3t F1X |5 - BEHERFE® 86,411.0
=8 Fit BAXER 15,548.0
TH E— FERT 71,999.0
S & HERER 24,075.0
it 198,033.0
F2RX [[TE HRfE BEHERFE® 63,672.0
HE fE BAXER 5,235.0
=f BE HER 62,907.0
FX # RER 11,581.0
B BF HERER 8,705.0
&t 152,100.0
EFIX | KB HEFH BEHERIE® 96,628.0
H&E E4 HER 81,460.0
Wi =x BAXER 6,119.0
&t 184,207.0
FTARX | R+ KER FrET 101,059.375
A# BRIUER BAXER 21,034.604
EE K- BEHRIE® 70,590.0
it 192,683.979




REBbERRERE EHENGRE

El% | EZEHA EERX | E @ F 4 5T VI3 BEHN
42 | H12.6.25 F1IRX |SF & #HERER 40,706.0
B =N BARLER 16,094.0

FX # RER 34,645.0

ES = BEHRE® 96,691.0

it 188,136.0

F2X | KT FHKE #HERER 13,112.0
Tk MiEE BARLER 3,645.0

LR BRfE BEHRE® 74,118.0

=M BE BIEOS 80,338.0

it 171,213.0

FEIX |HEH EAR RER 64,203.0
AE HEHF BEHERFE® 93,602.0

W =x BAHKER 7,540.0

it 165,345.0

FA4RX Pk ERF HERER 36,354.0
ARH XEB BEHERFE® 126,056.0

=R BT BAXER 20,334.0

it 182,744.0

43 | H15.11.9 11X |4l dezt H®iTE 74,799.0
E2E HZ BEHERFE® 81,511.0

wH #B& ®iTE 12,119.0

S & #HERER 14,123.0

FX # RER 15,736.0

Mh E2 BAHKESR 7,010.0

H 205,298.0

2X | Ik #F BAXER 10,605.0
T E— HERER 21,537.0

LE BRfE BEHERIE® 96,784.0

H 128,926.0

X | KE HEFH BEHERIE® 86,909.0
AL EA REEX%® 70,275.0

WiE =x BAHKESR 5,284.0

it 162,468.0

AR |HLE & HERER 8,864.0
EE B RER 40,864.0

R KER BEHRIE® 110,675.0

=k BT BAXER 13,524.0

& 173,927.0




REBbERRERE EHENGRE

EI% | EZEHAE |BR| B | EZEX | @ & 4 52 M]3 BEHN =Pt
44 | H17.9.11 B | #FEZE X |%s 85— TR 12,636.0
=i {HEA BARLER 8,832.0
i dbsk RER 79,323.0
ES = BEHRE® 94,072.0 O
FH HES TR 26,380.0
a8 BF #HERER 11,521.0
it 232,764.0
2R |iIiE BafE BEHRE® 89,887.0 O
R R RER 46,124.0
AT FHRAE HERER 13,327.0
Ml &) BAHKER 4941.0
it 154,279.0
X | KE HEFH BEHERFE® 90,925.0 O
W =x BAHKER 6,450.0
A& EA RER 73,846.0
it 171,221.0
X BB K- ER#HR 38,027.0
fiak AE BAXER 10,222.0
e B RER 41,489.0
ARH XEB BEHERFE® 113,704.0 O
&t 203,442.0
45 | H21.830 | B | #&% 1R |&R #* AAREESR 7,976.0
FH HES ®iTE 35,283.0
A —1& ®iTE 1,483.0
i dbsk RER 101,290.0 O
Bl BE #HERER 12,847.0
32E F ®iTE 68,910.0
&t 227,789.0
2X | FHFE B ®iTE 2,288.0
LE BRfE BEHERIE® 86,654.0 O
RS YT ®iTE 7,164.0
hEHE BT RER 64,334.0
it 160,440.0
X | KE HEFH BEHRIE® 90,176.0 O
HEH EA RER 89,809.0
hig & BTE 2,249.0
it 182,234.0
4X | R¥ KEB BEHRIE® 112,563.0 O
EE K- RER 97,747.0
AH BE3A ‘R 3,719.0
it 214,029.0
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REBbERRERE EHENGRE

EHREEXTHEERES
EI% | EZEHAE |BR| B | EZEX | @ & 4 52 M]3 BEHN =Pt
46 | H24.12.16 | B | fa5EE X [l dest BARREDR| 32,0500
32E = BEHRE® 73,237.0 O
FH HES HA#HFDE| 47,4000
—F X BARLER 11,217.0
o BR RER 17,066.0
it 180,970.0
22X |'MNER BF BARLER 6,683.0
FEHE BF HAXRXDRE| 18,180.0
LR BRfE BEHRE® 81,937.0 O
b RIE RER 18,836.0
it 125,636.0
X | = BAXER 5,593.0
HEH EA RFER 46,184.0
L\ = BAXRREDR| 128780
AE HEHF BEHERFE® 74,946.0 O
it 139,601.0
AR |[FE ER BAXER 17,594.0
ARH XEB BEHERFE® 104,544.0 O
2E K- RER 35,141.0
it 157,279.0
47 | H26.12.14 | B | #8% X [ZE5 ZF BEHERIE® 66,041.0 O
aiR ¥ BARHKESR 18,274.0
FH HES DR 62,254.0
&t 146,569.0
2R |iTiE BafE BEHERIE® 81,054.0 O
FEHE BT DR 28,282.0
INER BF BAXER 10,775.0
&t 120,111.0
3IX |H&E EAR RER 49,142.0
XE HEHF BEHERIE® 59,280.0 O
Wi =x BAXER 7,311.0
it 115,733.0
4X | R¥ KEB BEHRIE® 79,156.0 O
N = RER 38,106.0
FE ER BARHKESR 15,831.0
it 133,093.0
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REBbERRERE EHENGRE

FEEEXEEEZES
EI% | EZEHAE |BR| B | EZEX | @ & 4 52 M]3 BEH LE
48 | H29.1022 | B | #&EE X [Z5 ZF BEHRE® 103,177.0 O
*E BA BARLER 20,497.0
FrH HES HFEDR 64,173.0
H) 187,847.0
2R | ®F HFEDR 56,011.0
BR ZRE BARLER 19,004.0
XS EFHF BEHRE® 133,545.0 O
it 208,560.0
IX |=ZE & FERERRT 4115.0
ARA XER BEHERFE® 128,740.0 O
RN £ FEDR 51,096.0
=il 1387 BAHKER 16,510.0
it 200,461.0
49 | R3.10.31 B | ##EZE X [T BfE BEHERFE® 91,011.0 O
FH HES TERER 64,870.0
RE £ BARHKESR 17,783.0
it 173,664.0
22X |vE B BEHERFE® 126,137.0 O
= RF TERER 65,909.0
Hin FE BAXER 12,966.0
&t 205,012.0
3X |UW = AERER 63,796.0
ARA XER BEHERIE® 118,230.0 O
H 182,026.0
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